Aa/ croma relativo Cf

107 croma relatlvo
C*=1,0

=15
umbral

A a=diferencia cromaticidad

0.3 10 asxly 21

2-003130-LO0  2-003130-FO0 MS090-50, B4_05



Aa/ croma relativo Cf

107 croma relatlvo
C*=1,0

=15
umbral

A a=diferencia cromaticidad

0.3 10 asxly 21

2-013130-LO0  2-013130-FO0 MS090-51, B4_05



Aa/ croma relativo Cf

107 croma relatlvo
C*=1,0

=15
umbral

A a=diferencia cromaticidad

0.3 10 asxly 21

2-103130-LO0  2-103130-FO0 MS090-52, B4_05



Aa/ croma relativo Cf

107 croma relatlvo
C*=1,0

=15
umbral

A a=diferencia cromaticidad

0.3 10 asxly 21

2-113130-LO0  2-113130-FO0 MS090-53, B4_05



